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Q1. A piece of paper is folded and cut as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened.

(a)       (b)

(c)       (d)

Q2. Select the related numbers from the given alternatives:
9 : 25 :: 49 : ?
(a) 36       (b) 54
(c) 64       (d) 81

Q3. Find the odd word from the given alternatives?
(a) Teacher      (b) Lawyer
(c) Doctor      (d) Manager

Q4. Find the odd letters from the given alternatives?
(a) DEB      (b) RTP
(c) HIF      (d) NOL

Q5. Arrange the following words as per order in the dictionary.
1. Defect       2. Defense
3. Deerstalker      4. Defensive
(a) 2 , 3 , 1, 4      (b) 1, 3, 2, 4
(c) 4, 3, 1, 2      (d) 3, 1, 2, 4

Q6. A series is given, with one term missing. Choose the correct
alternative from the given ones that will complete the series.
AZ , CX , FU , ?
(a) IR       (b) IV
(c) JQ       (d) KP

Q7. Select the related word from the given alternatives:
Jailor : Prison :: Curator : ?
(a) Cell      (b) Museum
(c) Warden      (d) Cure
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Q8. A series is given, with one term missing. Choose the correct alternative from the given ones
that will complete the series.
5,  10,  30,  ?,  600,  3600
(a) 120       (b) 100
(c) 90       (d) 60

Q9. From the given alternative words, select the word which can be formed using the letters of the
given word:
COMMUNICATION
(a) AMMUNITION     (b) MONITOR
(c) COUNTRY     (d) UNIFICATION

Q10. If 'HARBOUR' is written as 'IBSCPVS' , how is 'HABITAT' written in that code?
(a) GZAHSZS     (b) IBCJUBU
(c) IBAHSZS      (d) IBCJBUU

Q11. If '-' means '×' , '×' means '+' , '+' means '÷' and '÷' means '-' , then what will be the value of
40 × 12 + 3 – 6÷ 60 = ?
(a) 4       (b) 7
(c) 16       (d) 44

Q12. If 25 + 5 ÷ 2 = 40 , and 35 + 5 ÷ 2 = 60 , then 45 + 5 ÷ 2 = ?
(a) 90       (b) 70
(c) 60       (d) 80

Q13. Select the missing numbers from the given alternatives
8 21 34

27 ? 53
(a) 35       (b) 40
(c) 17       (d) 23

Q14. A driver left his village and drove South for 20 km after which he stopped for breakfast.
Then he turned left and drove another 30 km, when he stopped for lunch. After some rest, he
again turned left and drove 20 km before stopping for evening tea. And then he turned right and
drove 30 km to reach the town where he had supper. After evening tea, in which direction did he
drive?
(a) West      (b) East
(c) North      (d) South

Q15. Consider the given statement/s to be true and decide which of the given
conclusions/assumptions can definitely be drawn from the given statement.
Statements:
1. Some managers are young.   2. All boys are young.
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Conclusions:
I. Some boys are managers. II. Some managers are boys.
(a) Only conclusion I follows
(b) Only conclusion II follows
(c) Neither conclusion I nor conclusion II follows
(d) Both conclusion I and conclusion II follow

Q16. Select the related letters from the given alternatives.
AEIM : BFJN :: CGKO : ?
(a) DHLP      (b) ZVRP
(c) BCDK      (d) MPQR

Q17. Consider the given statement/s to be true and decide which of the given
conclusions/assumptions can definitely be drawn from the given statement.
Statements:
All fruits are leaves.     Some fruits are grapes.
Conclusions:
I: Some leaves are grapes. II: All grapes are fruits.
(a) Only conclusion I follows   (b) Only Conclusion II follows
(c) Both conclusion I and II follows  (d) Neither Conclusion I nor II follows

Q18. A piece of paper is folded and cut as shown below in the question figures. From the given
answer figures, indicate how it will appear when opened.

(a)      (b)

(c)      (d)

Q19. Find the missing character?

(a) 500       (b) 146
(c) 75       (d) 125
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Q20. I am facing South. I turn right and walk 20 m. then I turn right again and walk 10 m. Then I
turn left and walk 10 m and then turning right walk 20 m. Then I turn right again and walk 60 m.
In which direction I am from the starting point?
(a) North       (b) North-west
(c) East       (d) North-east

Directions (21): In this question, one term in the number series is wrong. Find out the wrong term.

Q21. 1, 3, 10, 21, 64, 129, 356, 777
(a) 129       (b) 21
(c) 356       (d) 64

Q22. Rajat told Aman, “Yesterday I defeated the only brother of the daughter of my paternal
grandmother.” Whom did Rajat defeat?
(a) Son      (b) Father
(c) Brother       (d) Father-in-law

Q23. If ‘+’ shows ‘÷’ ‘-’ shows ‘=’, ‘×’ shows ‘+’, ‘÷’ shows ‘>’, ‘=’ shows ‘<’, ‘>’ shows ‘x’ and ‘<’
shows ‘-’ then the correct expression is-
(a) 5 + 2 × 1 = 3 + 14 > 11    (b) 5 > 2 × 1 – 3 > 4 < 1
(c) 5 × 2 < 1 – 3 < 4 × 11    (d) 5 < 2 × 1 ÷ 3 > 4 × 11

Q24. ‘Benevolent’ is related to ‘kind’, in the same way as ‘alluring’ is related to
(a) Brave      (b) Beautiful
(c) Arrogance     (d) Intelligent

Q25. Find the number of square in this figure?

(a) 10       (b) 8
(c) 9       (d) None of the above


